HW#4

(Due October 7)
1. After installing HEC-HMS on your system, open HEC-HMS and choose Tifton Project (if it does not show up by default or otherwise, go to file, and choose ‘open project’). Select the Basin Model item – ‘Tifton’. Click with your right button the green box representing the watershed processes. 

2. Now change your “Initial Loss” (i.e., infiltration) to: (a) Green- Ampt; (b) SCS Curve Number method. For (a), assume, initial loss as 0.0 inches and Wetting front suction head as 5.0 inches. Assume, 0% impervious, initial soil moisture content =0.23 and the soil has porosity = 0.50. Run the model for two different saturated hydraulic conductivity – i) Ks = 1.24 mm/hr; and ii) Ks= 0.15 mm/hr. Compare the two discharge hydrographs at the watershed outlet and comment on the differences (explain only qualitatively based on what you’ve learned in class on infiltration).

3. Repeat problem 2, but keeping Ks fixed at 1.24 mm/hr, and assuming that the soil has lower porosity of 0.35. Comment on the difference you observe in the hydrograph simulation. 

4. Now change your ‘Initial Loss” to SCS curve number method. Assume initial loss=0.0 inches and 0% impervious. Run the model for Curve Number 55 and 85. Comment on the differences you get in the simulated hydrographs at the basin outlet.
